Historic, Archive Document

Do not assume content reflects current scientific knowledge, policies, or practices.



Catalogue and Price List SPRING AND FALL OF 1916

Ge DENVER NURSERY CO.

PRECEIVED



HEADQUARTERS FOR COLORADO BLUE SPRUCE

Office, Display and Packing Grounds: 4100 WEST FORTY-SIXTH AVENUE DENVER, COLORADO

PLEASE READ THIS

We are sending trees and plants to almost all the states and territories. Some of the states have passed laws to regulate the traffic in Trees and Plants. We wish to state that we have complied with such laws, as they are known to us and have given our bond where demanded, and will, comply with any further laws that may be enacted by any state. We also have the nursery inspection tags for states which demand such.

PACKING—In order to be able to handle our fast increasing trade, we have built a new packing house and cold storage room of the newest and most approved pattern. Our trees are not exposed to sun or wind while being stored and packed. We guarantee that all plants and trees reach our customers in fresh, healthy condition, no matter where they go.

CARE OF STOCK ON ARRIVAL—Promptly on arrival the trees or plants should be unpacked and planted, or else the roots should be protected from sun or air by covering with moist dirt. If the ground is frozen outside, or the packing material in the cases frozen, store the original package in a cool, moist cellar until the conditions are favorable for handling. Care should be taken in choosing soil and environment to the end that success may reasonably follow your labors in planting. Shipments delayed in transit and which open up too dry and appear to be shriveled, should be soaked in water over night, which will resuscitate them.

CLAIMS—All claims for errors, shortage or anything else pertaining to your shipment, must be made promptly after receipt of goods. In writing us about your shipment, please remember to give order number and full particulars. Human help is not infallible and shipments as well as mail matter will miscarry, but please understand this: That the complete satisfaction of our customers is our first wish, and that we gladly rectify any and all errors on our part.

PREPAID FREIGHT—We prepay freight charges to any railroad station in the United States (excluding steamship and stage charges), on all orders for Trees and Plants amounting to \$10.00 net or over, when cash is sent with order or remittance in our hands before shipment is made. If you wish small trees, roses or flowering plants sent by mail, add 5 cents to each plant for postage.

REMITTANCES should be made by Postoffice or Express Money Orders, Bank Draft or Registered Letters. For amounts less than \$1.00 postage stamps can be sent.

QUALITY OF STOCK—Our Trees and Plants are well and carefully raised and grafting and budding are done by experienced workmen. Nothing is left undone to insure well developed, straight trees, with good even tops and without forks. You will find our trees graded to the sizes given in this catalogue, and you will get just what you order.

APPLE TREES

We grow our apple both from buds and grafts, the method depending on which will produce the better tree from a given variety. The varieties listed here have all been tested by us personally and are those we can recommend for Western planting. We have marked the most desirable varieties with a *. We sell 5 trees at rate per 10 and 50 trees at rate per 100.

		$_{ m each}$	10	100	1000

3 year trees, caliper 1 in., 6 to 7 ft..\$0.50 \$3.50

These are the very choicest of our stock and are very desirable for the fruit garden. All varieties.

		each	10	100	1000
2 yr. trees, 5-8 t	to 1 in.,	to 6 ft\$0.25	\$2.00	\$20.00	\$150.00
2 yr. trees, 1-2	to 5-8 in., 3	to 4 ft15	1.50	12.00	90.00

ONE YEAR APPLE

We grow thousands of one year apple from both buds and grafts, for the commercial orchard trade and, our customers say, they get better results with this class of stock than any other. The tops are mostly straight whips, one year's growth, and the roots are two years old. They can be headed to any desired shape and, with proper care in planting, the loss is insignificant.

	\mathbf{each}	10	100	1000
1 yr., 3 to 5 ft., extra quality	\$0.15	\$1.50	\$10.00	\$100.00
1 yr., 2 to 3 ft	10	.80	7.00	55.00

SUMMER APPLES

*Oldenburg (Duchess) Red Astrachan

*Yellow Transparent *Early Harvest

Red June

AUTUMN APPLES

*Wealthy *Gravenstein Maiden Blush

Rambo *Fameuse (Snow) Longfield

Ramsdell (Sweet) *McMahons White Wolf River

WINTER APPLES Rall's (Janet Geniton)

*Jonathan *Winesap McIntosh Red Stayman Winesap *Rome (Rome Beauty)

Ragan (Black Ben) Delicious Scott's Winter *Gano Price's Sweet Arkansas Black Walbridge

> Arkansas (M. B. Twig) *Missouri Pippin

Ben Davis Banana (Winter Banana)

*Northwestern Greening

CRABS

These varieties of crabs are the best we are able to find and we recommend them for a place in any orchard. Prices same as for apple. Whitney Martha *Hyslop *Florence

CHERRY TREES

Good cherry trees will be scarcer and higher the next few years than they have been for several years past. The demand for this tree has trebled in the past three years and the growers are scarcely able to keep pace with it. As the new orchards come into bearing, the planters begin to realize the profits to be gained by cherry growing and are planting more cherries.

We are proud of the quality of trees we are able to produce here and maintain that our trees are not excelled, for health and vigor, by any country in the world. We have our usual stock this year and hope to be able to fill all orders.

10 100 1000 each

3 yr., 1 inch and up, 6 to 7 ft......\$0.75 \$6.00

These are especially selected for our retail trade and are the very finest in cherry trees.

		each	10	100	1000
2 yr., 5-8 to 1	in., 4 to 6 ft	\$0.50	\$4.50	\$35.00	
2 yr., 1-2 to 5-8	in., 3 to 4 ft	35	3.00	25.00	\$200.00

ONE YEAR CHERRY

This is the ideal tree for planting in the large, commercial orchard. We bud them on strong growing, heavy stock and they make husky, healthy little trees from three to five feet high that are chock full of life and vigor. We are seldom called on to replace one of these trees and we sell them by the tens of thousands.

each	10	100	1000
One year, 3 1-2 to 5 ft., 5-8 in\$0.35	\$3.00	\$30.00	
One year, 3 to 4 ft., 1-2 to 5-8 in30	2.50	25.00	
One year, 2 to 3 ft., branched20	2.00	16.00	

Leading Sour Varieties— Dyehouse

Early Richmond English Morella Montmorancy

Ostheimer Wragg

Heart or Sweet Varieties-

Black Eagle Black Tartarian Governor Wood Yellow Spanish

PLUM TREES

each 10 100 1000 3 year, caliper, 3-4 in., 6 to 7 ft.....\$0.75\$6.00 These are specimen trees, grown 3 years in the nursery row.

				ea	ch	10	100	1000
2 yr.,	4 to-6 ft	., caliper	5-8	in\$0.	.50	\$4.00	\$35.00	
2 yr.,	3 to 4 ft	., caliper	1-2	in	.35	3.00	28.00	

Varieties

Native European Yellow Egg Forest Garden Shropshire Damson Japanese Milton Bradshaw Satsuma Blue Damson Abundance Wvant Burbank Desoto German Prune Italian Prune Red June Weaver Wild Goose Lombard Wickson

PEAR TREES

	PEAR STANDA	RD		
	each	10	100	1000
3 to 4 feet, 2 year old 4 to 6 feet, 2 year old		$$2.25 \\ 3.25$	\$20.00 30.00	
	Varieties			
Duchess Flemish Beauty Garber	Idaho Keiffer Clapp's Favorite	Secl Bart	tel :lett-Secke	el
	DWARF PEA	RS		
	· each	10	100	1000
2 to 3 feet, 1 year old 3 to 4 feet, 2 year old 4 to 5 feet, 2 year old	graft	$\begin{array}{c} \$2.25 \\ 2.25 \\ 3.75 \end{array}$	$$20.00 \\ 20.00 \\ 35.00$	
	Varieties			
Anjou Duchess Seckel	Garber Flemish Beauty	Clar K eii	p's Favoi fer	rite
	PEACH TRE	ES		
	each	10	100	1000
1 year, 4 to 6 ft		\$3.00	\$20.00	
Triumph (July 1st) Heath Cling		npion (Au		(October)
iioam oims	each	10	100	1000
Quince, 2 yr., 3 to 4 f Champion, the one	t\$0.40	10	100	1000
Apricots, 2 yr., 4 to 6 Moorpark, large ye Peach, extra large,	ft	\$3.00		1
Nectarine, 4 to 5 ft		3.00		
Russian Mulberry, 2	yr., 3 to 4 ft25 yr., 4 to 6 ft40	$\frac{2.25}{3.50}$		
		ma		
	SMALL FRU	TS		
	GRAPES	10	100	1000
2 year, selected, stro	each	\$1.50	\$12.00	1000 \$100.00
Worden, late bloom Diamond, greenish Agawam, dark red.	ner, black white.	ψ1.90	φ12.00	φ100.00
Concord, 2 year plan	ts	1.25	10.00	80.00
Campbell's Early—Ea		. 0		
and fine		2.50	40.00	
Moore's Early, large,	black	2.00	15.00	

GO	os	EB	ER	RI	ES
----	----	----	----	----	----

	GOOSEBE	RRIES	3		
		each	10	100	1000
2 year plants, all var	ieties\$	0.20	\$2.00	\$ 15.00	
Downing I	Houghton	Char	npion	\mathbf{Red}	Jacket
	Smith's Im	prove	d		
1	CURRA	NTS			
	•	each	1.0	100	1000
2 year plants, all var	ieties\$	0.15	\$1.50	\$12.00	
London Market, red				bright red	
Wilder, red	.1. 24 .			largest and	l best
White Grape, best w	nne	Red I	Juten		
	BLACKBE	RRIE	S		
	•	each	10	100	1000
1 year, root cutting	plants		\$0.50	\$ 4.00	\$ 30.00
Rathbun	Wilson	Sn	yder	Hir	nalaya
	RED RASPE	BERRI	ES		
	(each	10	100	1000
1 year, nursery grow Marlboro	n plants		\$0.35	\$ 1.25	\$ 12.00
1 year, nursery grow Louden and Cuth			.50	3.50	
	BLACK RASF	BERF	RIES		
	•	each	10	100	1000
1 year, nursery grow	n plants		\$0.35	\$ 2.50	\$ 15.00
Kansas and Gregg					

We want to call attention to the fact that our raspberry plants are grown in our nurseries, with the same care given to other good stock, and they should not be confused with the "sucker" plants from fruiting patches. Our kind will grow.

DEW BERRIES

	each	10	100	1000
1 year, root cutting plants		\$0.50	\$ 4.00	\$ 30.00

STRAWBERRIES

We have our usual stock of Strawberries and can make shipments by parcels post or express. For fall delivery, after August 15th. For spring delivery, the latter part of April until about May 20th. To give our plants time to grow in the spring, we usually hold strawberry orders until about April 15th, and ship by express or post. This gives the further advantage of having the plants reach our customers quickly and in good condition. Our method of packing guarantees safe arrival.

safe arrival.	each	10	100	1	000
All varieties		\$0.50	\$ 1.00	\$	8.00
Gandy Senator Dunlap	Warfield Hood River		Capt. Jack Bederwood		

ASPARAGUS

oach

10

100

1000

	Cucii	10	100	1000
2 year plants		\$ 0.50	\$ 1.50	\$ 10.00
RHUE	BARB			

	each	10	100	1000
2 year plants, Linnaeus	\$0.10	\$1.00	\$ 6.00	

DECIDUOUS ORNAMENTED TREES

Below we give a list of trees that are hardy and can stand the dry weather of the West. All these trees have been raised in the nursery, are well pruned and have good bodies and tops. All have been transplanted once and have therefore good roots. Our prices are so low that anyone can afford to beautify his home.

(White.) Fraxinus Americana. A rapid growing native tree, of fine symmetrical outline. Very hardy and drouth resistant. Good street or park tree.

WHITE ASH

each	10	100	1000
2 00 0 20 02000111111111111111111111111	\$1.2 5	7-000	
5 to 6 ft. trees	2.00	15.00	
6 to 8 ft. trees	3.25	30.00	
BOX ELDER			

							each	10	100	1000
5	to	6	ft.	well	pruned	trees	.\$0.25	\$2.25	\$20.00	
6	to	8	ft.	well	pruned	trees	35	3.00	28.00	
8	to	10	ft.	well	pruned	trees	70	6.70		

BIRCH. (European.) A graceful tree with slender branches. Quite erect when young, but after four or five years' growth assumes an elegant drooping habit, rendering the tree very effective in landscapes.

10 100 1000 each 5 to 6 ft. trees.....\$0.65 \$4.75

CATALPA SPECIOSA

	each	10	100	1000
4 to 5 feet	\$0.25	\$2.80	\$20.00	
5 to 6 feet	30	2.75	25.00	
C to P foot	45			

ELM. (American White.) A noble native tree of large size, widespreading head and graceful drooping branches. Easy to transplant; a rapid grower. One of the grandest park and street trees. Hardy everywhere; will attain a height of 50 or 60 feet.

Ε	L	M	

	each 10	100	1000
5 to 6 ft. nice, well pruned tr	ees\$0.25 \$2.2	5 \$27.50	
6 to 8 ft. nice, well pruned tr	ees40 3.7	5 30.00	
8 to 10 ft. nice, well pruned tr	ees75 6.5	0 60.00	
10 to 12 ft. nice, well pruned tr	ees 1.25 10.0	0	

BLACK LOCUST

. each	10	100	1000
5 to 6 ft. well pruned trees\$0.25	\$2.25	\$20.00	
6 to 8 ft. well pruned trees40	3.50	35.00	
8 to 10 ft. well pruned trees	7.00	60.00	
10 to 12 ft. well pruned trees 1.00	9.00	90.00	
HONEY LOCUS	т		
each	10	100	1000
2 to 3 feet	\$0.50	\$ 4.50	
3 to 4 feet\$0.15	1.40	12.50	

SCOTCH GOLDEN CHAIN. (Laburnum.) A very ornamental small tree of irregular shape with smooth, shining foliage. Its bright yellow pea-shaped blossoms are produced in long clusters. A very beautiful tree for the lawn. Very hardy. Price, each \$1.00; 10 for \$7.50.

1.80

16.50

4 to 5 feet.....

LINDEN. (European.) A very pyramidal tree with large leaves and fragrant flowers. A valuable tree for street and lawn planting, developing into beautiful specimens. Price, 5 to 6 feet, each 60c; 10 for \$5.75.

LINDEN. (American or Basswood.) A rapid growing, beautiful tree, with large broad leaves and fragrant flowers. Both Lindens make fine street or shade trees. Price, 5 to 6 feet, each 60c; 10 for \$5.50; 6 to 8 feet, each \$95c; 10 for \$9.00.

SOFT OR SILVER LEAFED MAPLE. Of rapid growth, large size, foliage of bright green above and of silvery white below. Hardy everywhere, easily transplanted. Where immediate effect or shade is wanted it is one of the best. Largely used for park or street planting.

SOFT OR SILVER LEAFED MAPLE.

each	10	100	1000
5 to 6 ft. nice well pruned trees, with good crowns\$0.20	\$ 2.25	\$20.00	
6 to 8 ft. nice well pruned trees, with good crowns	3.50	32.00	
8 to 10 ft. nice well pruned trees,			
with good crowns	7.00	60.00	
10 to 12 ft. nice well pruned trees, with good crowns 1.00	7.50		

SUGAR OR ROCK MAPLE. A popular American tree of elegant pyramidal form. Price, 5 to 6 feet, each 60c; 10 for \$5.00; 6 to 8 feet, each 90c; 10 for \$8.00.

NORWAY MAPLE. (Platanoides.) One of the most beautiful and desirable trees known, of large size, perfect outline, with deep green foliage. One of the most desirable trees for street, park or garden. Price, 5 to 6 feet, each 80c; 10 for \$7.50.

MOUNTAIN ASH. (European.) A hardy tree of medium size, erect stem, smooth bark, head dense and regular; covered from July until winter with large clusters of scarlet berries. A fine lawn tree. Price, 5 to 6 feet, each 75c; 10 for \$6.00; 4 to 5 feet, each 50c; 10 for \$4.50; 3 to 4 feet, each 40c; 10 for \$3.50.

RUSSIAN OLIVE. This makes a beautiful lawn tree, with its silver foliage and nearly black, shining bark. The blossoms have a

wonderful fragrance. The exquisite perfumes are carried long distances in the air. Price, 4 to 5 feet, each 40c; 10 for \$3.50; 5 to 6 feet, each 55c; 10 for \$5.00.

CAROLINA POPLAR. One of the most rapid growing trees, with large, handsome, glossy, deep green leaves. Succeeds everywhere; especially adapted to cities, where it makes unusually fast growth and resists smoke and gas. Pyramidal in form, making a spreading head and dense shade when properly trimmed. It is unexcelled for quick growth and effect; makes a splendid windbreak or screen. It is used in larger numbers for street planting than any other tree.

CAROLINA POPL	.AR		
each	10	100	100 0
3 to 4 ft. nice well pruned trees, with straight bodies, not branched. \$0.10	\$0. 60	\$ 5.00	
4 to 5 ft. nice well pruned trees, with straight bodies, not branched10	.75	6.50	
5 to 6 ft. nice well pruned trees, with straight bodies, branched15	1.25	10.00	
6 to 8 ft. nice well pruned trees, with straight bodies, branched25	2.00	16.00	
8 to 10 ft. nice well pruned trees, with straight bodies, branched50	4.50	30.00	
10 to 12 ft. nice well pruned trees, with 1½ and 2-inch caliber	7.00	50.00	
WEEPING TRE	FQ		
Weeping Birch, cut leaved Kilmarnock Weeping Willow American Weeping Willow Camperdown Weeping Elm		· · · · · · · · · · · · · · · · · · ·	1.25 1.25
EVERGREENS	6		
RED CEDAR— each 6 to 8 inch, seedlings\$0.25 2 to 3 feet, transplanted 1.25	$10 \\ \$ 1.50 \\ 10.00$	100 \$15.00	1000
IRISH JUNIPER—			
each 12 to 18 inch, transplanted\$0.60 2 to 3 feet, transplanted 1.50	10 \$5.25	100	1000
NORWAY SPRUCE—			
each 10 to 15 inch, transplanted\$0.25 2 to 3 feet, transplanted 1.25	$10 \\ \$1.50 \\ 10.00$	100 \$13.50	1000
BLUE SPRUCE—			
each 10 to 15 inch, transplanted\$.75 2 to 3 feet, transplanted 1.25 2 to 3 feet, selected blue 3.00	10 \$6.00 10.00	100	1000

PLANTS FOR HEDGES

eac	h 10	100	1000
Lilacs, 12 inches		\$12.50	
Spiria van Houtti, 12 inches		15.00	
California Privat, (Ligustrom			
Vulgaris), 18 to 24 inches		7.50	
Barberry (Purple-leaved), 12 inches.		12.50	

ORNAMENTAL SHRUBS

There is nothing which so quickly, and for so little cost, adds so much to the beauty, cheerfulness and homelike appearance of a place as an assortment of hardy shrubs. They are permanent improvements which increase in size, value and beauty, year after year.

ALMOND. (Double Flowering.) A very pretty shrub, blooming very early in the spring; very pretty double pink flowers. Grows 5 to 6 feet tall. 40 cents each; 2 to 3 feet.

ALTHEA. (Rose of Sharon.) Unsurpassed by any hardy shrub for freedom of bloom. From midsummer until frost, when few other shurbs are in bloom, the Althea blossoms freely. 35 cents each.

BARBERRY, PURPLE-LEAVED. A most beautiful shrub, growing about 4 feet high, very rich in color of foliage and especially ornamental in the autumn and winter. Leaves dark purple, followed by pretty berries. Valuable as a hedge plant. 25 cents each; 10 for \$2.00.

CALYCANTHUS. (Sweet Scented Shrub.) Flowers very double, brownish purple in color and deliciously fragrant. Blooms a long time. One of the most desirable shrubs. Hardy and of easy culture. 25 cents each.

GOLDEN ELDER. (Sambucus.) A variety with beautiful golden yellow foliage. A valuable plant for producing contrast when planted with other shrubs. Grows to a height of about 6 feet. Should have full sun to give best effect. 30 cents each.

HONEYSUCKLE. (Upright Red Tartarian.) Very pretty flowering shrub, blooms in May. Flowers bright pink, followed with showy red berries. 25 cents each.

HYDRANGEA PANICULATA GRANDIFLORA. One of the most valuable hardy shrubs. It attains a height of 5 to 6 feet, and is perfectly hardy everywhere. The flowers are white, borne in immense pyramidal panicles, nearly a foot in length. It commences flowering in July and continues until November. 30 cents each.

LILAC PERSIAN PURPLE. A well known shrub of glossy green foliage and beautiful, fragrant flowers. A good plant for the lawn and one of the best for a fancy hedge. Hardy anywhere. Flowers purple. 35 cents each.

LILAC, PERSIAN WHITE. Same as above, with white flowers. 35 cents each.

AFRICAN TAMARIX. Very strong growing shrub with brown bark and slender, spreading branches. The foliage is as light and feathery as asparagus; flowers delicate and fringing, of bright pink color. Blooms in May or June and sometimes again in the fall. Will grow in almost any soil. Grows 6 to 8 feet high. Very strong, 3 to 4-foot plants. 50 cents each.

MOCK ORANGE OR SYRINGA. The Syringa is a large shrub, growing from 6 to 10 feet high. Vigorous habit, very hardy, with large handsome foliage and beautiful white flowers. Very fragrant. Blooms very freely. Hardy. 25 cents each.

SNOW BALL. A well known and favorite shrub of large size. Bears balls of pure white flowers in June. We have a bush on our farm, on which we counted over 800 blossoms at one time. Hardy everywhere. 25 cents each.

SPIREA. An indispensable class of medium sized shrubs of easy culture in all soils. They embrace a wide range of foliage, habit of growth, color of flowers, and season of blooming. In habit of growth they are very healthy and require very little care. We offer the following varieties:

SPIREA BILLARDI. Rose-colored flowers in large spikes; blooms nearly all summer. Very pretty and showy. 25 cents each.

SPIREA THUNBERGII. A Japanese variety of medium size, with narrow delicate leaves and a profusion of small white flowers in early summer. One of the best. 25 cents each.

SPIREA VAN HOUTTI. The grandest of all spireas. Very beautiful for the lawn. When in bloom it is a perfect fountain of white blossoms, the foliage hardly showing. Perfectly hardy, an early bloomer and vigorous grower. A very good plant for a fancy hedge; see further description under "Hedge Plants." 25 cents each.

SPIREA ANTHONY WATERER. This beautiful variety produces flowers of a bright crimson and blooms so freely that it may be kept flowering during the summer till late fall by trimming away dead blooms. 15-inch plants, 25 cents each; 10 for \$2.00.

DEUTZIA. It is a very desirable shrub of strong, hardy growth, with nice luxuriant foliage and bearing an abundance of beautiful recemes of double, white flowers. Must be seen to be appreciated. There is nothing in the list of hardy shrubs that gives better results for planting in masses or groups on the lawn. Extremely hardy. 25 cents each.

SNOWBERRY OR WAX BERRY (Symphoricarpus.) A desirable shrub with small pink flowers, followed by large, white, wax-like berries, which hang on the plant through most of the winter. Grows to a height of 2 to 4 feet. Very showy and succeeds everywhere. 25 cents each.

WEIGELIA or DIERVILLA. No shrub in our large collection has attracted more attention. It is of robust but graceful growth, 5 to 7 feet high and produces immense numbers of superb, large, trumpet shaped flowers, from June until fall. Plants frequently have more flowers than leaves. We list the following two varieties:

WEIGELIA ROSEA. 30 cents each.

WEIGELIA VARIEGATED LEAVED. 30 cents each.

JAPAN QUINCE. (Pyrus Japonica.) Also called Fire Bush. The fine brilliant flowers are among the first blossoms of spring, and they appear in great profusion, before the leaves are fully developed. 25 cents each.

HARDY ORNAMENTAL CLIMBING SHRUBS

CLEMATIS JACKMANII. Very pretty and showy vine. Flowers large, measuring 4 to 6 inches across when fully expanded: color intense violet purple, with a rich velvety appearance. It flowers continually from July until October. 65 cents each.

CLEMATIS PANICULATA. A vine of very rapid growth, quickly covering trellises and arbors with handsome, glossy green foliage. The flowers are of medium size, pure white, borne in immense sheets, of a mose delicious and penetrating fragrance. Blooms in the fall. cents each.

VIRGINIA CREEPER. (Woodbine.) A native vine, easy to grow, very hardy, of beautiful foliage, and will cover a veranda or wall in a very short time. 25 cents each.

AMPELOPSIS VEITCHII. (Boston Ivy.) Very hardy; will cling

firmly to any wall and will soon cover it. 35 cents each.

HONEYSUCKLE. (Monthly Fragrant.) Grows very quick, flowers large and very fragrant, color red and vellow. Blooms until frost comes. 25 cents each.

HONEYSUCKLE AUREA. A variety with beautifully variegated foliage: leaves netted and veined with clear yellow. Flowers very

fragrant. 25 cents each: 10 for \$2.00.

TRUMPET VINE. (Bignonia.) Grows in almost any soil and is perfectly hardy. It bears clusters of large, trumpet shaped, crimson orange flowers. Can be trained in any position. 25 cents each.

CHINESE MATRIMONY VINE. A vigorous growing, hardy climbing vine that may be used anywhere that a vine is needed for training

to trellis, fence or wall. 25 cents each: 10 for \$2.00.

CHINESE WISTARIA. A very popular, hardy vine, growing rap-

idly and climbing to a height of 50 feet or more. 25 cents each.

LONICERA HALLEANA. Color, an intermingling of white and vellow: extremely fragrant and most satisfactory. This variety is most often found growing on porch trellises or used as a covering for unsightly fences. 25 cents each.

ROSES

We offer our roses in two sizes. The number 1 size is our big, fine two-year plants, grown on imported stocks, which will produce roses you will be proud of. To meet the demand for a cheaper rose we offer our one-year plants and guarantee them to be equal to any at the price. Our assortment is complete.

	each	10	100	1000
2 year, No. 1 size, all varieties	\$0.50	\$4.00		
1 year	30	2.50		

HYBRID PERPETUAL

Paul Neyron, pink Clio, pink Kaiserin A. V., white Alfred Colomb, crimson Coquette des Alps, white Gen. Jacqueminot, crimson Mrs. John Laing, pink Prince Comille de Rohan, shaded Gruss an Tepletz, crimson black Captain Christy, pink

Harrison's Yellow LaFrance, rose American Beauty, red Helen Gould, crimson Magna Charta, pink Anne de Diesbach, rose Frau Karl Druschke, white Marshall P. Wilder, red

CLIMBING AND RAMBLER ROSES

Baltimore Bell, blush Pink Rambler Crimson Rambler Blue Rambler Climbing Meteor, red Seven Sisters, rose Dorothy Perkins, pink Prairie Queen, red Oriole, yellow

MOSS ROSES

Crested Moss, pink Crimson Globe White Bath Henri Martin, red Salet, light rose.

HERRACEUS PERENNIAL PLANTS

ACHILLEA. "The Pearl." The finest of all plants for cemetery planting. The plants grow about 15 to 20 inches high and are completely covered with double pure white flowers from July until frost. A fine cut flower. 10 cents each; 10 for 75 cents.

AQUILEGIA. Columbine. 25 cents each.

ASTERS. Michaelmas Daisies. 10 cents each.

CANTERBURY BELLS. Campanula. 15 cents each.

DELPHINIUM. Larkspur. 15 cents each.

PHALARIS. Ribbon Grass. 15 cents each.

BLEEDING HEART. Dicentra. 25 cents each.

HIBISCUS. Rose Mallow. 15 cents each.

HOLLYHOCKS. Double mixed, single mixed, 15 cents each; 76 for \$1.25.

STOKESIA. Stoke's Aster. 15 cents each.

RUDBECKIA. "Golden Glow." 15 cents each.

SALVIA. 10 cents each.

SHASTA DAISY. 15 cents each.

GYPSOPHILA. Also called Angel's Breath and Baby's Breath. 20 cents each.

ANCHUSA ITALICA. Deep blue clusters all summer. 15 cents each.

LYCHMIS CHALCEDONIA. Orange scarlet flowers. 20 cents each.

HESPERIS MATRONALIS. Showy spikes, pink flowers. 15 cents each.

CHINENSIS BLUE. 15 cents each..

PAEONIES. White, crimson and pink. 25 cents each.

HARDY PHLOXES. White, crimson and pink. 20 cents each; 10 for \$1.75.

GERMAN IRIS. (Iris Germanica.) 10 cents each; 10 for 75 cents. TIGER LILLIES. 15 cents each.

GLADIOLUS. The Gladiolus is the most attractive of all the summer-flowering blubs and deserves a place in every garden, as it is sure to flower and do well with little care.

FINEST MIXED. Extra large bulbs of the very best varieties. $5\ \mathrm{cents}$ each; $50\ \mathrm{cents}$ per dozen, postpaid.

GOOD MIXED. 4 cents each; 35 cents per dozen, postpaid.

CANNAS. The grandest of all bedding plants, of quick growth and tropical appearance. Well known everywhere. Mixture of many kinds, 15 cents each; \$1.25 per dozen, postpaid.

DAHLIAS

These showy and pretty flowers are becoming very popular and justly so. The dahlia is one of the showiest of all autumn flowers, commencing to flower in July, they are a perfect blaze of bloom until stopped by frost. Flowers are most perfect and of beautiful form. Fine for cut flowers and should be found in every garden.

The following varieties grouped will be found the most satis-

Par hulh

factory for the general trade:

SHOW AND FANCY DAHLIAS

Adelaide, creamy white, edged lavender \$0.15 Alice Emily, buff yellow .15 Dr. J. P. Kirkland, dark crimson, large .15 Fascination, rose pink .15 Imperial, deep purplish maroon, fine .15 Meteor, bright red, very large .15 Nuggett, orange, tipped scarlet, always good .25 Queen Victoria, Canary yellow .15 Storm King, pure white .20 Apple Blossom, all the shades of the A. B .15 A. D. Lavoni, soft pink .15 Miss Miller, pale lemon .15 White Bedder, white .15
CACTUS DAHLIAS
Blanche Keith, yellow, long closely quilled petals. 30 Countess of Lonsdale, deep salmon red. 20 Dainty, lemon yellow, tips of petals golden. 55 Krimhilda, pleasing shade of pink. 20 Mrs. Mortimer, rich terra cotta, extra fine. 40 Mrs. Murray Ind, bright rose. 30 Queen Alexander, deep orange. 20 Strahlen Krone, intense cardinal red. 25 St. Catherine, deep yellow, shaded red. 15 Dr. Jameson, deep crimson. 15 Genista, amber shaded to golden yellow. 30 Mrs. M. A. Holbrook, velvet crimson. 15 Fusileer, deep salmon. 15 Brunhilda, rich plum color. 15
DECORATIVE DAHLIAS
Sweet Nell, pink.30Grand Duke Alexis, pure white, edged lavender.30Black Decorative, almost black.20
POMPON DAHLIAS
Alewine, delicate pink, tinted lilac .15 Catherine, bright yellow, full and fine .15 Little Jennie, primrose yellow .15 Mars, scarlet .15 Purity Fine (pure), white .15 Sunbeam, crimson scarlet .15 Bobby, deep plum color .15 Dablias—Red, white, pink, 15 cents each: 10 for \$1.50

WE PAY ALL FREIGHT CHARGES (not express charges) on orders for trees and plants of \$10.00 or more no matter whether one person orders or a number together. For parties that wish to get their trees by express instead of freight, we will pay as much towards the express charges as the freight would amount to, balance to be paid by purchaser. With smaller orders we generally add a few plants to help pay the freight or express charges, and we shall be glad if customers will mention what they prefer. Packages of thirty pounds or less generally go just as cheap by express as by freight. It happens some times through our's or the railroad's mistake that the freight on a box is not prepaid when it should be. In any such case please pay the freight, send us the agent's receipt, and we will remit you the amount.

REPLACING STOCK THAT DIES—We guarantee to deliver the stock to our customers in good condition, and there our responsibility should end; but in order to meet our customers half way, when the seasons and conditions are unfavorable for planting, we have decided to replace AT ONE-HALF THE REGULAR CATALOGUE PRICE, ALL STOCK THAT FAILS TO MAKE A GROWTH THE FIRST SEASON.

Replacing orders must be sent in on or before July 1.

GUARANTEE OF GENUINENESS ON TREES AND PLANTS—While we exercise the greatest diligence and care to have all our trees and plants true to label, and hold ourselves in readiness, on proper proof, to replace all trees and plants that may prove untrue to label, free of charge or refund the amount paid, it is mutually understood and agreed to between the purchaser and ourselves that our guarantee of genuineness shall in no case make us liable for any sum greater than that originally received for said trees and plants that prove untrue.

POSTPAID BY MAIL—Orders to go by mail are put up in packages of 4 lbs. or less. While each package cannot weigh more than 4 lbs., the number of packages that can be sent to one address is NOT limited. We can only send small trees and plants by mail. If the full mailing price, as given in our catalogue is paid, we pay all postage and send trees of suitable size to go by mail.

THE DENVER NURSERY COMPANY

4100 West 46th Ave., Denver, Colo.

Certificate *f*Nursery Inspection

Office of State Entomologist
Colorado State Agricultural College

FORT COLLINS, Colo., Aug. 31, 1915

THIS IS TO CERTIFY that, in accordance with Section Four of the Session Laws of 1907, the growing nursery stock on the grounds of the Denver Nursery Co., of Denver, Colorado, was inspected on August 28th, 1915, by GEO. M. LIST, a duly authorized inspector from this office, and was found to be apparently free from all insect pests and plant diseases that are likely to be disseminated to the injury of purchasers.

This certificate is invalid after September 1st, 1916.

C. P. GILLETTE,

State Entomologist.